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6) Solve each equation by factoring.
(Use the x-method.)

x2 -7x-18=0
(x +2) (x-9=0
x+2=0 x-9=0
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7) Solve the equation using the quadratic
formula. bx? -9x -5=0

a=5'b=_9'c=_5 -

x =9 +\/81 - 4(5)(-5) = 9 = V81 + 100

20 {81 M 9 +135
=9 +y181 /.=_1_0_+ S
10
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8. Convert the equation to standard form.
y=2(x+4)-3

y=2(x+4)(x+4)-3 — FOIL

Yy =2(x"+4x + 4x +16) - 3

vy =2(x*>+8x +16) -3 ——Distribute
y=2x>+16x +32 -3 Combine like terms

Y = 2x° +16x + 29
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9. Solve the equation using the quadratic formula.

=3x2+2x-12=0
- _ 59&-%3 -)2)
?:5 Ke 22 a-2) ’
C,:‘/‘;‘ At |_{_ 19y ——2 i’-“'/‘“/b
T . = -¢
—6

[no solution ( you can't square root a negativel)|
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1) Graph the equation. Label the
vertex and the axis of symmetry.

= -x* +2x + 1

x = -b/2a = -2/-2 =1
axis of symmetry x =1

y=-12+2(1)+1=2

vertex (1, 2)
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2) Solve using square roots.
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3) Solve using square roofts.

= 12
2
6

m

2x*
2

I+
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4) Solve using square roots.
2x* +8=0
-8 -8
-8

2x* =
no solution ( you can't square

root a negativel)
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5) Solve by factoring.

(x+3)(x-5)=0
x+3=0 x-5=0
-3 -3 +5 +b




